This list isn't comprehensive – but it gives you the ones you're likely to use a lot.

You just need to ask yourself if you know the proper situation in which to use each of them.
This is a list of acceptable abbreviations.
Ch1 & Ch2 Reasons
add.(or mult, sub, div) prop. of =

subst. (good for = or ()

trans. (good for = or ()

reflexive (good for = or ()

( addition post.

segment addition post.

def. of midpoint

def. of ( bisector (( bisector thrm)
def. of linear pair (not in our book – but may use)
def. of suppl. [image: image47.png]


 

def. of compl. [image: image2.bmp]
def. of (
def. of rt. ( 

2 [image: image3.bmp] suppl.(or compl.) to the same angle, then the 2 [image: image4.bmp] are (
2 [image: image5.bmp] suppl. (or compl.) to ( [image: image6.bmp], then the 2 [image: image7.bmp] are ( 

If ext. sides of 2 adj. angles (, then [image: image8.bmp] compl.

Chapter 3

sum of the measures of a ( is 180

ext. ( thrm.

used when proving parallel

2 lines cbt with alt. int. [image: image9.bmp] (, then lines ║ 

2 lines cbt with corr. [image: image10.bmp] (, then lines ║ 

2 lines cbt with s.s. int. [image: image11.bmp] suppl., then lines ║
2 lines ( to same line, then lines ║ 

2 lines ║ to same line, then lines ║
used when you know parallel and trying to show other things

2 ║ lines cbt, then alt. int. [image: image12.bmp] (
2 ║ lines cbt, then corr. [image: image13.bmp] ( 

2 ║ lines cbt, then s.s. int. [image: image14.bmp] are suppl.
Ch4 Reasons
SSS, SAS, ASA, AAS

HA, HL, LL, LA (these 4 require that your proof has already shown rt. [image: image15.bmp])

CPCTC
def. of Isos. ( (use this if you’ve shown 2 sides are ()
base [image: image16.bmp] of an isosceles ( are ( 
[image: image17.bmp] opposite ( sides in a ( are ( 

sides opposite ( [image: image18.bmp] in a ( are ( 

a pt. is on the ( bisector of a seg. iff it is equidistant from the endpoints of the seg.

a pt. is on the ( bisector of an ( iff it is equidistant from the sides of the (
Chapter 5 reasons
if you know you have a [image: image19.bmp] already

opp. sides of [image: image20.bmp] are (
opp. [image: image21.bmp] of [image: image22.bmp] are (
diags. of [image: image23.bmp] bisect each other
[image: image1.bmp]if you’re trying to prove you have a [image: image24.bmp]
if both pairs of opp. sides are (, then it’s a [image: image25.bmp] 
[image: image40.emf]
if one pair of opp. sides is both 
[image: image26.wmf]P

 and (, then it’s a [image: image27.bmp]
[image: image41.emf]�
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if the diags. bisect each other, then it’s a [image: image28.bmp]
[image: image42.emf]
if both pairs of opp. [image: image29.bmp] are (, then it’s a [image: image30.bmp]
[image: image43.png]



if both pairs of opp. sides are 
[image: image31.wmf]P

, then it’s a [image: image32.bmp] (by definition) 
[image: image44.png]


parallel line theorems
if 2 lines 
[image: image33.wmf]P

, then all pts. on one line are equidistant from the other line

if 3 or more 
[image: image34.wmf]P

 lines cut off ( segs. on one transversal, then they cut off ( segs. on any trans.

[image: image45.png]


a line that contains the m.p. of one side of a ( and is ║ to another side will pass through the m.p. of the 3rd side
[image: image46.png]



a segment that joins the midpoints of 2 sides of a ( will be ½ the length and ║ to the 3rd side

(We agreed in class that symbols could be replaced for words in the "reasons" part of your proofs for the last 8  – provided that you use the correct symbol here and don't miss the markings)

Special Quads

the diags of a rect are (
the diags of a rhombus are (
each diag of a rhombus bisects 2 [image: image35.bmp] of the rhombus

the midpoint of the hyp. of a rt. ∆ is equid. from the 3 vertices

· with 1 rt. ( is a rectangle

· with 2 consecutive sides ( is a rhombus

base [image: image36.bmp] of isos. trapezoid are (
median of a trap is 
[image: image37.wmf]P

 to the bases and it’s length is the avg. of the bases

[image: image38.bmp][image: image39.bmp]
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